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1.4  Multiply and Divide Radicals

***Same index #

Multiply the following radicals Remember to simplify

3 3

3 3



2

Distributive Property

2(√3 + √5 ) =  3(2√7 + 5√6 ) =

Remember to simplify

4√5 (2√3 ­ √5 ) = 

Remember to simplify
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4(3√6 ­ 2√5 ) = 

(√3 + 5)(√3 ­ 5) = 

Remember to simplify

Remember to simplify

(√3 + 2)(4√6 ­ 7√5 ) = 

(√6 + √2)(√6 ­ √2) = 



4

What if the index numbers are different?

√6 ∛7 =

√6 ∛6 =

VS

Divide the radicals (rationalize denominator)
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(rationalize denominator)

√ 3
9

=

(rationalize denominator)

Reduce fraction or simplify the 9 first?
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(rationalize denominator)

√3 x4
x =

√9m
18 =
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3

3
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